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5. g : i
C ' 101 : Fundamentals of Business Economics — I
Time: 3 Hﬂursl N'I‘ Marks : T0
. (a) ill}t_ﬂl btl‘-llf:fl Aelaal vl A Ad 2l 53 ¢
fitically discuss the definition of Economics given by Prof. Robbins.

YUWOR

UL Ayau 200l Risinasl ALY ¥Honal.

Discuss the growth oriented definition of Economics given by Prof., Samuelson.
(b)  dlfedRil vy yyonq). 4

Explain the concept of utility.
AUYWOR

Rl USIRL $54i uxanal.
Explain briefly the types of Goods.
(c) sHasl vifara x4 wxAasl sielsnsEll vad B3 3L 4
Clanfy the concept of Micro and Macro Economics.
AYAWOR

Ul 24 el vy w3al.
Explain the concept of Monéy and Wealth.

2. (a) il yeudadl2ud qslal. 6
Describe the concept of price ¢lasticity of demand.

ALYWOR
Hiotd 54l sl Rl [@ad g s
Explain the detenminants of demand in detail.
(b)  Aesb SR [2al &1 ln auil. A
Wirite a short note on consumer’s surplus.
AHY4/OR
ol uft yeauiadl 2l e 52l
(*larify the meaning of cross elasticity of demand.

() Hw vuz wlue 5L 4
Clarify the meaning of substitution effect.
«144VOR
sadl il vag axaadl.
F:xplain the concept of inferior goods.
1 P.T.O.
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3 @ uRadAlla - wei- (a3 ayonq).
Explain the law of variable proportion.
UUWOR

AU WA (AC) | . o)
Aoit . (AC) 3 it val MOyl v 32 531 AC 44 MC 2t

Clanify the co i
gn ) a::j:eﬁlccrf Average Cost and Marginal Cost. Discuss the relationship

(B)  AHBAWEA L @sell weyal

4
Give the characteristics of Iso-quants curve. ' \
AUYAWOR
ATANW 298 v i vuas1 v qeldl,
Describe the concept of Average Revenue and Marginal Revenue. o

(€} Gellert AsUcll vl Vg 32 530,
Clanfy the concept of Production Possibility*Curve. ‘

UUYWOR

slaus vl 208wyl
Give the meaning of Opportunity Cost.

4 (@) OMUYsA eRlsSHl amell aelal.
Describe the characteristics of Monopolisti n.
WYAWOR
(33d oecud s4R Ay w4 5151
When is price discriminat table ?

ion possib
(by vl 1Rl vaig ¥x
Explain the concept of Ki
HYUWOR
A

ect Competition.

CUrves.

(c) ceel [ad g
Write a umping.

ads Sonzl [@ad @51 -lu auil.

% 4181y _
hort note on Collusive Oligopoly.

el qlou [sed waie 591 Gar Ul 14

the appropriate answer from the option given under :
ol Hiazvd Wit (Model) 2% 54

olHd
{(a) Az (b)
(c) worzdl @) wea A
The kinked demand curve model is given by
(a) Stigler (b) Baumol
(c) Chamberhn (d) Paul Sweezy
2

Di-1u1

Scanned with CamScanner



. 2)  dam vdl d Wi ¢

(3)

(@) RS M 243U 3 6. (b)
(€) Geuietd Hio w3y 53 6. (q)
Selling cost are the costs which

(a) adjust supply to demand (b)
(¢) adjust production to demand (d)

AlMid 2uas wluan w2 s ya @ 2

(a) MR=Pxe (b)

() MR - P( El) (d)

i MR = ¥id 24,
Which formula is used to find out MR ?

(a) MR=Pxe (b)

. (e=1
(c) MR—-*P( . )

(d)

(4)  S3L AMAL ws UGl o 1SR €9 2
(a) Mzl (b)
(¢) el ¢edlsd (d)
In which of the following markets, a firm 1s
(a) Monopoly (b
(c) Perfect Competition (d
(5) Szl Y2l Hinvw

(6)

DL-101

(a)  X-218-1 AHid?

(¢) Ht ataqiull ‘

Demand curve facing a mon firm 1s
(a) parallel to X-axi \ (b)
(¢) Upward slopi (d)
POIREESIET weR ¢ 7
(a) MY i (b)
(c) i | (d)

all costs are variable ?

(b)
(d)
UMY QOUHL

15 % A wiRaMRadAsdla

TR [CGINESE
(¢) ol % Wl uRadqdla (ARaR)
(d) wisve Al

In Economics, short run refers to
(n) only one factor variable
(¢} all fuctors variable

(b)
(d)

3

= Yol yeu Aadis, P = aiml ¢S =

Hidtd Yrasid x143u 53 9.
wsyel Al

adjust demand to supply
neither

MR =

listic Competition

0L elaaldl
Y-8 AMidR

downward sloping
parallel to Y-axis

g5l AHA A
OlYL % UMY dUULHL

Short run
in all time period

all factors fixed
neither
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(8)  Atesn wlis Yl Bl 9y sy

(8)  Wl4q )
3 3 3 =
concept of : - 2
(a) Paulq;g?e;nynsumfr S surplus is given by
(¢) Chamberlin (b) Mmu
(9 Bis wgat © (d)  Stigler

(@ wlsas qaqa
(c) ﬂat-buam-[l?mq,ﬂ ®) 44l @il
Giffen goods are (d) edsl aaqail

(@)  Presn
@) Prsige g 0 ot °“\
(10) z?mmr[{; sAuRadl Ay 3y 53413 ltu[;::{:ﬂmr o
s

: (d) olma
;I:;e ec\?[}:mﬂmh:t who presented welfare oriented definition of eco
* . (b) Robbins

()  Samuelson

(1) 2ulds al.lpu.i TRT (d) Baumol
o - (b) dlot
(C) A4l @) e
The root cause of economic problem
(a)  Ends (b)
{(c) Means

(12 ML (3 gz g @i wiaL 4
(a) Y-S
(C) W4
According to the law of demand, the

e 1l
lon between price and demand 1s

(a) positive ‘ inverse

(c) direct d) neither
(13) 3cue [@4y »ed \

(@) A4 WHel 4 WML 9 Asiy

een factor amount and output

stween production and sales revenue

etween production and price

on between factor amount and marginal cost

]l 54 dael SMAYsd esiS 4l ?

sl [ma dval (b) wesiHl (e vy

of 2i3gell g (d) Ysd udal
Which of the following is not a characteristic of monopolistic competition ?
(a) Large number of sellers (b) Large number of buyers
(¢} Homogenous product (d) Ease of Entry
4
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